LEVEL 2 — EQUATIONS

Note:  Ouly turn back to page number if y

Q1. Solve these-equaﬁoﬁs (answers may be fractions):
{a) Sx+1=-5 (b) 9—4dx =17 {c) 4+6x=12
{d) 8&x+5=18 () 10-3x=22 ) 6x—-15=25
() 16+%=19 (h) 21x+3=—60 1 12-3x=4

Jolve these equations:

@ 3(2a-5)=-51 (b) A6—2a)=0 (©) 4(9—3a)=12
(@ 95 +6a)=72  (e) 4(3a—1)=8 ) 6(2 + 5a) = 54
&) 5(5-3a)=85 (h) 8(18—4a)=48 (i) 5(6a¢—3)=5

Solve these equations:

Solve these equations by collecting pronumerals on to ore gide and
numbers on to the other:

(@ Sx+2=73x (b) 3+8x=4x-5 ) 3x+9=2x+12
(d) 3+6x=5x+18 () Sx+10=3x+12 (f) 7—3x=9x +43
(8) 2x—5=4x+5 h) 2x+5=3x-3 () 5-2x=3x-15

Solve these equations by first expanding;

@ 3x-5=5r-27 ) 4x+5=3x+6) () 39-x)=3(x-1)
(D) TQ-0=2(8-3%) (&) 4x+3)=12Q-x) & 2(x—7) =5(x—4)
(®) 6(x+2)=4(x+6) (0)6G+6)=2(11+2%) (i) S@r—4) =43x—8)

Find the value of x in the following figm‘éé:

(a) et ©)

A+ 10°°)

Given the formula ¢2 = g2 + b2, find ¢ if:

@) a=3,b=4 (b) a=10,b=24 () a=9,b=12
(d) a=108,b=144 () ¢=22,5=528 (f) a=15,b=2
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